R A E S R T 110 SRR B =S 3 RS (BER) HEE

brak - JFESE W
(F 3 H)

— ~ BEHEE (B 4 7)3 56 0y

( )1 =FPd  EAMENSEE @ Rl =AP KE=HF ?
AEA=AF OG)FE=mF OF=m[F OFH[=AF

()2 WHEC) AB=DC » AC = DB - HAJAABC=ADCB ZfRE{o[fE = ME ?
(A)SAS (B)AAS (C)SSS (D)SSA

( )3 HF-HA=APN=EREHREEZLY]  HIERERRE 10K » =AFPHNEEEZ /D ?
(A)24 (B)26 (C)28 (D)30

()4 WTEC) AB - CD4yHITEHIE O FE{KEF 4 B~ D #j% - H AB = CD » #{#H OA=0C -
AB =CD » ~ABO= ~CDO=90° H[3&IHIIFIE = he% =M 2
(A)AABD ELZAABO (B)AABO EZACDO (C)AABC EZABCO (D)AAEO EZACOD

()5 WTEE) K ABCD 1 AB // CD » H E~F 435 Bilif 4 BD Bl AC fyrfil - % AB =15 »
EF =8 H|CD = ?

(A)19 (B)23 (C)27 (D)31

A R

[&](—) ] -y (=)
()6 %5 a ard > R NHIRE e g ?
(A)sa+2 fyari  (B)a+7 fsZi# (C)2a—1 By (D)a’ Fyilsk

()7 THIRGE A > IERERY A 2% 7
() FHE =P EEHy P EG A [H A
(2) FHE = THARIINE T 8- TS
(W) FE =AW EVEEFR
(1) FHE =AM AP SR AT A A A R R TH A AR 2 1
(A4 (B)3 (C)2 (D)1
()8 THMEME=APRINE ?
(A)ALLESML (BYMLEEL  (CLEEL  (D)AANL
()9 TR gEER 2
(A) =AHIPR R =P AFr 4RET 3R
(B) EOo R =i =t &rE A E,
(C) ShLEL =i = TERL S R A
(D) HA=APN.LALR =APRREDE
()10 ELXA-BE=mPALH - EX=AEDH]F50° 60° 70° {NRFELENERE]—8
PR = THELR - P o0 B LAY =38 3P o0 &a = 52 1 - sl R S {a] 7 &) 2
(AIRE=APNEL BRI =APNRL  CFRIE =AM (DA R LR 53 &

()11 X G KBAABC = &iiyac sl - 5 = 4R ZAZE 18 - HIl G F]AABC =JEEERVEERE Z FIE2%/D 2
(A)9 (B)12 (C)29 (D)36
F1H



()12 40 FE () > AABC - D~ E -~ F =25 BCUU%4y - AN @ AC =1: 3> MEL) ABAYHEL » 5%
i [ I — Bh & AABC FYEE () ?
(A)Z (B)Y (C)X (D)&FE

()13 WFE(E) » AABC HIFEE K 40 » PNUJERERE 2 » HIIAABC AT B 2

(A)10 (B)20 (0)30 (DM

] (1) I(fi) /\)

()14 4 FEGS) > GEAABCHYE.L, » Hrh ~C=90°> D/ AB |-+ GD 1 AB - # AB =29+ AC =20 >

‘BC =21 HIl GD Hy-EE B ?

29 140 420
(A) 29 (B) ? (C) 29 (D) 29

= TR (F834r) #3647

1. %145 » AABD BIACDB &1 » AB = CD » H ~/ABD= ~CDB - 525 /A= /C -

(GH1E N HZEBHEAILEE )

A D
Z5HH : fEAABD EHACDB H »

‘AB = CD

~ABD= ~CDB

BD=__ (1) -
. AABD=ACDB (__(2) #%MEH)
WA= 2C (HEAHE)

2. 4 FE () » VU ABCD &3 » AE L BC » H F-~ G 43Hlk AC ~ DE fyth® - %5 FG =3 > AE =8>
HIPU#J ABED WymEifE
3. E41AABC B =F4TY > AB = AC =13> H BC =10 %5 | A0 » SKAABC By YIEEE =

4. {IFEI(Y) » HHAABC s ~,C=90°> AC =12 BC =5 3} :
(1)AABC f4MEERPEE = (1) - (2) AABC IHNLIEEE = (2) -

C
A D
C
A b
13
B—F—¢ A B A B B

&l () [l (/1) & (1) [ (1)
5. 41 FE(L) > | BEBAABC B0, - 55 AB =9 > BC =12 CA =14 HJAAIB : ABIC : AAIC (YEREEL =

6. 41 EE () > O BEEAABC fY9M(, » ~BOC=130°> 3K L A= £ o
FE2H



7. W FEI(F—) > 2% | BEEAABC 1YL 45 2 A=120° > 3K ~BIC HyfE 8= & o
8. #IFE(+ ) > G Bk AABC fYEE.Ls » #8 G BE{E BC Y1743 DE - % AB =18 > HI| AD =
A
égﬁiiiiiix Z/thl /£§1§§§ FX\T\\\F
& (-+—) &+ ) B (+=) & (1)
9. 41 FE(1=) G %5 AABC #E.() » B AABC HYIRE 5 24 » K VUETY ADGF HIFRE 5

10.471_F-[&@(-}-VU) » AABC BLADBF 1 » ~B=90°> BC =CF =6 > AD = DB =5 > 3k VUi&J DBCE HyEf&

1 %o~ b RMEHEETE > Ha<lb
(1) B a=2k+1- k BB Hl b= 72 (277)
) K(1) > T ab+1 Ky 4 HUMEEL - (2 57)

2. GETA=FIHR A~ B~ Co disA —(EfFHHAZE .0 0 Euﬁftﬁ 0 O F L =178 P 5 Ay R B AH
%> E‘/ﬁﬂ‘i—F'aﬁﬁﬁﬁ)%f)i‘ilﬁhf’eﬁé’]ﬁﬁ%& THlRy 5 B 5 AEH 8 ANHE SrEMERE L O ZUHIGF AR
PR/ DAE - (RARERXANG D)

H3H



R A E S TR T 110 BERE S -F8E S REF (BEH) FEs

IR JE5E - i

)
L 3

1 3 4 5 6 8 9 10 11 12 | 13 | 14
T - (&357) 423677
1(1) 1(2) 2 3
4(1) 4(2) 5 6
7 8 9 10

|

=~ &ie - (B84 o BREMD4ESY) 380y

—_ —~

s
1) % a=2k+1> k F%8 > Hl b=
2) &(1) #EHH ab+1 B 4 HfEEL

59

Sa~ b Ry (E G H a<b- (B/NE 2757)

o

2. EIfETHA =MHBIR A~ B~ C o MisA —(Ef5
e, O HE &0 O F itk = [E08 b e HY BE B AR
% EHE=FUHP Rt E AR Bl R 5 2
H540H 8 HE  SFREHAE SN O 2UHF
A HIEERE R 2/ DA - (ARG D)




